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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv)  This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Read the following statements carefully : 1

Statement 1: The price of a given currency in terms of another is
known as bank rate.

Statement 2 : Demand curve for foreign exchange is a downward
sloping curve.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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2.  HF A, fordt sty , fenfera =g fenfsra scaea @ srfirer 2|

2 718 TRerf o Srelegaee T W 9T o ey § Oel forehed shl ug=m hifsre 1
(1) ITfERdT ﬁﬁaﬁﬂmmﬁ(inventories)ﬁw
(i) TS T H gha

(iii)  3TJATEAT H IRdfaIeh IcuTed TaT H hHl
(Gv)  STdaer § U TX | het

forerey ;
(A)  Had (1) B) () (i)
(C)  (iii) 3 (iv) D) (i), (iii) 3 (iv)
3.  uEAM shifeg fop, feAfctiaa | & shia-ar foraeft qm <l Wit 1 0 &id 781 2 | 1
(@& fashed &1 =aq Fifs)

(A)  SEqAT IR QAT HT ST

(B) R gRT forast § & aTet 379 UfEm shi SR
(C) Torer Im W SH oTet R qeieeh

(D) 3y fowa & gred ko

4. 31T AT AT SHIN A B, HHTIRad drfetent =i 901 <hIfo ; 1
CHAEETREIEPEEAISIY
3T (Y) ECCl ST S 3T Jg
EFH | EHEH | T HeH (APC)
0 (... 30 —
100 0 .G 1
200 30 170 0-85
300 60 240 0-8
IECTS I
(A) -30,120
(B) 30,120
(C) 0,70
(D) —30,100
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2. Suppose in an economy, planned spendings are greater than planned
outputs.
Identify the correct option with respect to effects on the economy : 1
(1) Decrease in planned inventories in the economy
(i1)  Rise in National Income
(iii)) Decrease in real output level in the economy
(iv) Decrease in employment level in the economy

Options :
(A)  Only (1) (B) () and (i)
(C)  (ii1) and (iv) (D) (1), (iii) and (iv)
3. Identify, which of the following is not a source of demand for foreign
exchange. (Choose the correct option) 1

(A)  Imports of goods and services

(B)  Gifts by Indians to their families living abroad
(C) Indian tourists visiting foreign countries

(D)  Loans from Rest of the World

4, Using the given information, complete the following table : 1

(Choose the correct option)

Income (Y) Savings | Consumption | Average Propensity to
(in Tcrore ) | (in Tcrore )| (in Tcrore) Consume (APC)
0 (). 30 —
100 0 W) 1
200 30 170 0-85
300 60 240 0-8
Options :
(A) -30,120
(B) 30,120
(C) 0,70
(D) -30,100
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5. e sl gR0 FA GiSid @/g T 500 &, qAT AR AT 20% 2, AT Arefier SHT 1
HT

BT | 1
(Fert T bt qfd o foTu wet forshed =ht == hifST)
(A) T 200 (B) T 300
(C) 100 (D) T 500
A R E ST STfeereelT H T STYfd H HHT L qhdT 2 | 1

(Fer o <kl g oh ToTq wiet forshe <kt = hifT)
(A) T SR | HH
(B) SwRHIMG
(C) S HFH
(D)  G-Secs (GTHRI AfawfcT) o 3

7. Twfafiad et — AR (A) SRR (R) i IHYE qiey |

Tt fow v faeneat 1 © ol faene st == ST 1
R (A) A ISl GHH T W, BT HaT o eI § o0 Al UG 31 H
Fig e AR 2 |

FN (R) : ST T o T § drer] e iy 2% worredt o Siarid e
T foraeft qETel o Helg H e qeT o qed H el 9 1 |

%I?Fcf':r:

(A) IR (A) 3R HROT (R) SHT T & 3T HRT (R), 3R (A) 6T 9t
AT HATR |

(B) IR (A) 3T RO (R) ST T &, Wl hIoT (R), IR (A) il Tl
T T&T AT & |

(C)  3AMHIT (A) HT =, ok R0 (R) IR |

(D)  3AMRIA (A) 319 8, Afehd T (R) IR |
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5. If the total credit created by the banks is ¥ 500 and Reserve Ratio is
20%, the value of primary deposits would be . 1
(Choose the correct option to fill in the blank)
(A) T 200 (B) ¥ 300
(C) <100 (D) < 500
6. Central Bank can decrease the money supply in the economy by
1
(Choose the correct option to fill in the blank)
(A) lowering the cash reserve
(B) increasing the bank rate
(C) lowering the bank rate
(D)  purchase of G-Secs (Government Securities)

7. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct option from those given below : 1
Assertion (A) : Other things remaining constant, devaluation of domestic

currency may lead to rise in National Income of the
nation.

Reason (R): Devaluation of domestic currency refers to reduction in the
value of domestic currency by the government with respect
to foreign currency under the fixed exchange rate system.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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8. Ifd Tk SeamHt @l] (upward sloping) et @ UM %A, Y-378T o fohe
GhTeHes HEwTiah (coordinate) W 3id:@S (intercept) SHTAT B, AT $HHT ATcqd I8
T foF ot ¥ gfg B W Hmia SawrT yaft (MPC) qoT Sfted
ITIRT Ya T (APC) | 1
(e w1 <l gfed o Torq Bt forsked =1 =R shINT)
(A) Terwft, % gig gt (B) #3fgnft, #afgant
() ferwf, & finee anft (D) ® firrae gnft, & fitree gnft
9. ugaH shifvie {5, FmfeRaa o @ #ia-wt 7e v it Ui o1 & o1 | |ftafard
&1 st ST | @& fareg s Fifs) 1
(A)  9Rd T AT H h1Ed Wi Haiera shi e I
(B) &R W BN ATt ™
(C) = affenl ! WA o &9 H $[TdH
(D) Torelt o ST Sfeh skl YT fofart e oSt
10.  3fe FeRT Uk (K) T8 5 2, A1 S srerd e g0 | 1
(Fert o b1 g oh ToTq wet forshe skt =i hifTg)
(A) S=-60+025Y
B) S=-60+075Y
(C) S=-60+020Y
D) S=-60+060Y
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8. If an upward sloping straight line consumption function makes an
intercept at the Y-axis at a positive coordinate, it implies that Marginal

Propensity to Consume (MPC) and Average Propensity to

Consume (APC) as the income increases. 1

(Choose the correct option to fill in the blanks)

(A) remains constant, rises (B) rises, rises
(C) remains constant, falls (D) falls, falls

9. Identify, which of the following items will not be included in estimating
National Income of India. (Choose the correct option) 1

(A) Salary to Indian residents working at the Russian Embassy in
India

(B)  Income generated from smuggling
(C) Payments to farm workers in the form of foodgrains

(D)  Interest paid by a firm to a bank

10. If the value of Investment Multiplier (K) is 5, the relevant saving

function would be . 1

(Choose the correct option to fill in the blank)
(A) S=-60+025Y
(B) S=-60+075Y
(C) S=-60+020Y

(D) S=-60+060Y
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11, YTdH Hde AR AR o o siter Sat T2 iy | 3
12. () e QU T kel g SRS ™ (NDPp) shl TOHT HiIfSM - 3
2427 feeon (?gﬁ’)

(1) | TR o 9 Hehed ST 3UTg 2,500

(i) | et qsft st 3o 200

(iii) | T AT 20

(iv) |3ueH 50

(v) | o=l & T 308 ek ST 50

(vi) | & § aiEdd 30

(vil) | Sl fcEdt s STt g1+ 500

areaT
(@) oIl & TH Y[ |red TR (NFIA) ol ORWTING shiISTT qei1 38 Sieehi i

ST I | 3

13. () U AAATEAT A F AY-USHIR T X HTleAd & & 8 |7

Ig fufa w1 g9idt 8 2 39 Rufa @ fued & U fordt ter Toenivier 3u
I1 SIS | 4

YT

(@) U FHIed-eh TEATcHE TR hl SUANT hish foedR ¥ samsy o, fasr & i
TS IRIVeR gfg, STeiearaee o Sifow 3T o Tt ol ohel TTord shiel! & | 4

14.  “1990 % &I H, YR fiwd o (RBI) &l TaTE W, 9Rd SR o fafi=T i
I T9T SR ol FTREt Tan 1 oty foram o 1

ST U o HATAIH H, THR o siohl, TSIE I HATEHN o &Y H s g sieh il ol
WEHAY § ==1 HIT | 4
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11. Distinguish between Balance Payment and Balance of Trade. 3
12. (a) Calculate Domestic Income (NDPp) from the data given below : 3
S. No. Particulars Amount

(in < lakh)

i) Gross National Product at market price 2,500

(i1) Consumption of fixed capital 200

(iii) | Goods and Services Tax 20

(iv) | Subsidies 50

(v) Net Factor Income from Abroad 50

(vi) | Changes in Stocks 30

(vii) | Unexpected loss of a fixed asset 500

OR

(b) Define Net Factor Income from Abroad (NFIA) and discuss its
components. 3

13. (a) “An economy is operating at under-employment level of income.”

What does this situation indicate ? Discuss any one fiscal measure
to tackle this situation. 4

OR

(b) Elaborate using a hypothetical numerical example, how a given
initial increase in investment affects the level of final income of the
economy. 4

14. “In the 1990s, on the advice of Reserve Bank of India (RBI), the
Government of India took a decision of hypothecation of gold reserves to
different nations.”

In the light of above statement, discuss briefly the role of Central Bank
as Banker, Agent and Adviser to the Government. 4

58/6/2 # 11| Page =43 P.T.O.
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15.  Torell srreufeh Srelogereet § 4w #IT (AD) % Hd ol SATheT IV ; 4
() e (1) = T 200 IS
(i) FETIER (K) =5
(iii) AT H L (Y) = T 4,000 FS
(iv) TR STINT ST (¢) = T 50 HS

16. (%) (1) TH AT TR, th Feufis g d Faa diT wH A, B3 C £ |
e ffd gaametn o S, 3ok gy fHeforiad S-ad fpg e 2
() %4 AF%H BT 2,000 71 FH C I 1,200 3 Je HT HTA
IEERREZIN

(II) %4 B %H AT 1,100 791 %4 C I 3,500 o He T HIA
IEERREEIN

(IID)  %H C A TEEAT i % 5,700 T o A1 6 HH ITHIT o fIg
oo opaT |

IR I % 120 HHd §T, TSN Hod W 3[4 5] 3care (NDP, ) %
H ST ST TS | 3

(ii) Wwﬁmquﬁﬁm Y& A dTel 2000 U fa=mer =t &
fymtor & sreferaee & gEa o] 3cdTe (GDP) o e W EwTerd

YTEl shl RSAT I | 3
arraT
@) () Ol ghd W] 370 (GDP) 9 Hifssh Hehel Bl 3c1E H fowg
T | 3

(i)  faier 11 319, 2023 3t T GeR o SR :
“forefter I 2023 o 3ATFeeh FTeHT 6T forsht wes fiferem =1 SAfeheT UrR
Tlé% l”

Fhel BT 318 (GDP) 9 ATk ol W 58 ITe sl fergersor
?m‘:”%ﬂl 3
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15. Estimate the value of Aggregate Demand (AD) in an imaginary economy : 4
(1) Autonomous Investment (Iy) = ¥ 200 crore

(i1)  Investment Multiplier (K) =5
(111) Level of Income (Y) = T 4,000 crore

(iv)  Autonomous consumption expenditure (¢ ) = T 50 crore

16. (a) (1) Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the
following transactions were under, taken by them :

) Firm A sold goods worth ¥ 2,000 to firm B and ¥ 1,200
to Firm C.
(I)  Firm B sold goods worth ¥ 1,100 to Firm A and ¥ 3,500
to Firm C.
(ITI) Firm C sold to households for final consumption,
goods worth ¥ 5,700.
Estimate the value of Net Domestic Product at Market Price
(NDPyp) assuming depreciation to be ¥ 120. 3

(i1)  Explain the likely impact of construction of 2000 new schools

providing high-quality education in a nation on Gross

Domestic Product and welfare in an economy. 3
OR
(b) (i)  Distinguish between Real Gross Domestic Product (GDP)
and Nominal Gross Domestic Product. 3

(i1)  As per a news dated April 11, 2023 :
“Electric Vehicle sales crossed one million mark in FY 2023.”

Analyse its impact on Gross Domestic Product (GDP) and
economic welfare. 3
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qIe :  FHETTRId T9 Shacl grEaTiera TerTiert & o7¢ Yo7 &1 16 (@) (ii) % T W
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ST SHITSTC, Toh, Tohe TR TR <0 FHedTol o gaish o &9 H GDP o S9N
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17. FHfRad Ty emyEes ufen

R e aegell qur Sarstl il Sucsy FETd 7, S8 SeR-de % g
3T & LT ST Hehell | 58 b oh1 TEGST o A6 & — USGHT GU&TT, qoh,
FTEHRT T 3eTTe, TIwe ATeisti+eh a&qy el ST & |

fsft et qom | el § A THEAT BT | T &1 g R € |
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IUHIHT deh & Hifird 7t & | erewr & fou, afe ue =afth s ggar 8, @t 98 3=
Rl o foTT Suctsy €t Wit | I8 el ST Gehar & foh 30 =afth o STMHT qr 31
SfhAl oh YA H Uil Heftr € | Wifer Jfe & Qreistieh qreh A1 A1g Jguor ff
A o ST ol AT e, AT 39k A Tl o fort SuTed B | U ATk ST Tk o ot
STHIT TH o {oTT S8k STFNT sht SUASHAT I HH el sh{TTT | 37l Teh 1Y Fg AN
TR AT 33T TR &, 7T J&T S AT AT STHNT FgaTessh e /1T |

e, TISft et o wwasd o, STt safeh seqatl o foIT o et :tdT, S8 e
AT I3 Y dferd o ST Hehat © | Ife 3119 feehe 7 @lie, at tmuent [T =1 | fhey
@ i SIAT 8 firert | ifeRT TresTfes sl o wwaxl H, foreft it oft o o
33 W Afed A AT hIg e (FOR) T T8 & | FHIAT Arelsiieh g3t bl
TR-STIFSII el ST & | AT 5 STHIHT T A2l o1 Fd & T ol Helstiien et
o ToTT Yoo TP hET ShicH &1 &, HAfUq sIgd oI ST9e 81 ST @ | 39 37 {4
ToT SHRNT i ATl i SIS (THER) el STl & | SUHIH UFoss ®9 9 37
=it o fog sy 2w, 2 3 79 § W R "ged & a1 e forg anfers
ST ST (T7E) & & | IcaTE TAT SUHIHT o i) ST HTRAT 6 gRT Tfia &
1At et 22 STl @ | U8 H, 6 FehR ol IEq3AT ohl IucTed] FEM o [T {1 31
T &L 2 |
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Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 (b) (ii).

Explain how, ‘non-monetary transactions’ in an economy act as a
limitation of using GDP as an indicator of welfare.

17. Read the following text carefully :

Government provides certain goods and services which cannot be
provided by the market mechanism. Examples of such goods are national
defence, roads, government administration etc. which are referred to as
public goods.

There are two major differences between public and private goods. One,
the benefits of public goods are available to all and are not only restricted
to one particular consumer. For example, if a person wears a shirt, it will
not be available to others. It is said that this person’s consumption stands
in rival relationship to the consumption of others. However, if we
consider a public park or measures to reduce air pollution, the benefits
will be available to all. One person’s consumption of a good does not
reduce the amount available for consumption for others and so several
people can enjoy the benefits, that is, the consumption of many people is
not ‘rivalrous’.

Two, in case of private goods, anyone who does not pay for the goods can
be excluded from enjoying its benefits. If you do not buy a ticket, you will
not be allowed to watch a movie at a local cinema hall. However, in case
of public goods, there is no feasible way of excluding anyone from
enjoying the benefits of the good. That is why public goods are called
non-excludable. Even if some users do not pay, it is difficult and
sometimes impossible to collect fees for the public good. These non-paying
users are known as ‘free-riders’. Consumers will not voluntarily pay for
what they can get for free and for which there is no exclusive title to the
property being enjoyed. The link between the producer and consumer
which occurs through the payment process is broken and the government
must step in to provide for such goods.
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feuw T ey 9 g I o e W, fefafed gt o s e

(F)  EHR GRT HTeST o AT sht TS T AR FHedTor TR T sy | 3
@) HESH (RER) i TRATSA IS | Areistieh a&g3il & dad # shl-aged
ST 3= STl shl AT hifSTY | 3
Q|us g
TR AT faehma
18.  ¥d wifd EEEIPES 1
(e o <A1 fd o ToTq |et forshed 1 == TSI
(A)  STErt (B) & UTeH
(C) U3 (D)  uR U
19. <, o 3{dTid, R I g Wd I 6 foIT wrfesh i Ta 1 TS
foraE frer Scared STed &1 ST o ST SUSHT | L T | 1
(Fer o b1 fd o ToTq wiet forshed <kl = hifsT)
(A)  EIH BN qoTAT
(B) I gomeA!
(C) HE™ HIERI HiEah{deh shild
(D) &R shifd
20. FfaRad fomr =1 st HIST o SR gRT H fouue § g9 & fog 7o g
U e TedT I | (TE! foIhed HTTRH HINT) 1
(A)  HERI 0T iHfaat (B) fafrafia srse
(C)  ufaeT gfeemd (D)  H=HT & 6N
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On the basis of the given text and common understanding, answer the
following questions :

(a)  Describe how the Government’s role in providing public goods

impacts community welfare. 3
(b)  Define free-riders. Explain the challenges posed by the free-riders
in the context of public goods. 3
SECTION B
Indian Economic Development
18. White Revolution is associated with . 1
(Choose the correct option to fill in the blank)
(A)  Horticulture (B)  Fisheries
(C)  Dairy Production (D)  Animal Husbandry
19. In China, under , peasants were provided with pooled land to
create larger fields that could yield greater output and they shared farm
implements. 1
(Choose the correct option to fill in the blank)
(A) Joint Farming System
(B) Commune System
(C)  Great Proletarian Cultural Revolution
(D)  Green Revolution
20. Study the following image and identify the measure adopted by the
Government to improve agricultural marketing. 1
(Choose the correct option)
(A)  Cooperative credit societies (B) Regulated markets
(C) Transportation facilities (D) Dissemination of information
58/6/2 # 17| Page =43 P.T.O.
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qIe :  HEIRGd 97 Fad gIEamiaa aqerTierat & 1o7g 394 G821 20 % T4 W& |
UEeH hIfST foh, Trmfcrfiad # @ SH-61 S SR i fordue § o o fofq 7oy
MR AT TET 2 |
(A)  H&HRI T giufaar
(B) M-faf=fia (unregulated) IR
(C) e aie gleemd
(D) =T H TR
21. wWHAT I 4§ U o9 BREE’ (GLF) 3Aeiei o eard 3 off | 1
(e o <h1 g oh ToTq wet forshed skt =i hifTg)
(A) 1951 (B) 1955
(C) 1958 (D) 1962
22. FrAfRad ot — AL (A) TR FRT (R) il AHIE T | e fau e fosredi
LR GNCETERCIE IR 1
TIHFIT (A) : 99 1921 kI g2 fausiess 9¥ (Year of Great Divide) el SITAT 2 |
FRU(R) : ¥ 1921 o 39T, WA hl SIHEEAT I & H o1 sgiadl gs off |
%I?Fcf':r:
(A)  NRAT (A) 3R FHROT (R) HT T & 3N FHRT (R), R (A) Y ¥l
T HAT R |
(B) AR (A) 3T HIOT (R) ST GcT €, Afehd 1T (R), 3TT9HA (A) i gt
IREAT T HdT & |
(C) AMNFHIT (A) T B, T HRT (R) TR |
(D) JINRAT (A) 3 =, AfRT FIOT(R) I 8 |
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The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 20.

Identify, which of the following measure is not adopted by the

government to improve agricultural marketing.
(A)  Cooperative credit societies
(B) Unregulated markets
(C)  Better transportation facilities

(D) Dissemination of information

21. Mao initiated the ‘Great Leap Forward’ movement in the year
(Choose the correct option to fill in the blank) 1
(A) 1951 (B) 1955
(C) 1958 (D) 1962
22. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct alternative from those given below : 1
Assertion (A) : The year 1921 is called as the Year of Great Divide.
Reason (R):  After the year 1921, India experienced a sharp rise in its
population growth rate.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
58/6/2 # 19| Page =43 P.T.O.



23.

24.

25.

26.
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“Hd TCHR 3 forell =afeh o foTu stfersham fffr emeor €T (safiesn) o e bt i

3OS off |~

WAGROEIT_ HEYAIEIICTE | 1
(e o <A1 g o TeTq |e forshed o1 == h1fTg)

(A) e shifd (B) v ufElna

(C) forsra sy (D) o shifd

TEaH hifey fo, FFmfariad § O i9-81 Seriieor ol 9l TR & TR siar ® | 1
CHAEETREIREPERCISIY

(A)  HreISIh &5 % SUsRHT (PSUs) o I o U feedt sht wehwged fershl
(B) =9 forea o @y Afefd wehisor

(C)  3rfeurareT o fofir=T &3l Ut T gRT SIITT 7T il shT 82T
(D) AT SAEATI W& &1

Frefaftaa o o fora Tee/for Tsgi 3 snifdfer fasma & fore d=erdiar st gl <t UTeH
ERIDIN; CHAEETREIRERE RIS T
(i)  9d (i) ==

(i)  TfeRET (iv) O TST ST

forepea

(A @), (i) 3R (iii) (B) (i) 3R (iii)

(©) ()W (iv) (D) A (iv)

Hohdeh hl TN o TsHIfas Folr o o SHaiferhar arfiert &
T o &9 T I R ST wehar 2 | 1
(e o <A1 g o TeTq | forshed sl == h1fTY)
(A) e (B) TaaAdm
(C) ey (D) SHHIRThE
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23. “The Indian Government adopted a policy of fixing maximum land
holding limit (ownership) for an individual.”
It is commonly known as . 1
(Choose the correct option to fill in the blank)
(A)  Green Revolution (B) Land Ceiling
(C)  Marketable Surplus (D)  Golden Revolution
24. Identify, which of the following correctly defines liberalization. 1
(Choose the correct option)
(A)  Outright sale of part of shares of Public Sector Undertakings
(PSUs)
(B) Increased integration with the rest of the world
(C) Removal of restrictions imposed by government on different sectors
of the economy
(D)  Focus on import substitution
25. Which of the following country/countries followed the Five Year Planning
structure of economic development ? (Choose the correct option) 1
(i)  India (ii)  China
(iii) Pakistan iv) USA
Options :
(A) (1), (i1) and (iii) (B) (1) and (iii)
(C) (@) and (iv) (D)  Only (iv)
26. indicator may be defined as the measure of the extent of
demographic participation in social and political decision-making. 1
(Choose the correct option to fill in the blank)
(A)  Economic (B)  Liberty
(C) Health (D) Demographic
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27.  TrmfaRad soml sl ermgees ufet : 1
FYT1 ;TSR U Ut fafafer 2, i fopeft =afxe =t s1aa uf@m & o stsfifaes
T \TE 3R H T FaTH T 8 |
FIYT2 :  ATHE IE & S, AU IdTEe GATA! FRT Hohed BT 1€ (GDP) H AREH
qarg |

e T Tt o aATetes W, FAfaiad # @ gt faenea o1 w9 Fifse
(A) YT 1T 8 AN HAT 2 A& |

(B) w97 13T R AN FIT2 TR |

(C) FUT 1AR2TAN TS |

(D) YT 1 3R 2 HI T T |

28. (F) “TofesT e % SWH, Wl BT 3¢A1E (GDP) H Tt &7 %1 areH sige
SHITET AT |7
31T I o THYT H HI=T Tohi Hied ST T e T e g Fhifsre | 3
HYAT
@) “fafesr s & Faria e Gt & foem & e et Tehde YRd &
QR ol F(ATET Gaamd Y& w1 11 g iy siufefe fdl ot e |
WA AT |”

T 3ATY T 7T HoH T TEAT & 2 A9 ST oh TR § 7= FHI0T 91T | 3

29. fou T o o STUR W, WHE YSft ({01 o Hid i GHEATST SR st AT g |
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27.

28.

29.
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Read the following statements carefully :
Statement 1 : Employment is an activity which enables a person to earn

means of livelihood for his/her family.

Statement 2: A worker is the one who contributes to the process of

Gross Domestic Product (GDP) by rendering his
productive services.

In the light of given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

(a)

(b)

“During the British rule, contribution of industrial sector to the
Gross Domestic Product (GDP) remained very low.”

Justify the given statement with valid arguments in support of
your answer.

OR

“The real motive behind infrastructural development under the
British rule was not to provide basic amenities to the people of
India but to subserve various colonial interests.”

Do you agree with the given statement ? Give valid reasons in
support of your answer.

On the basis of the given image, explain the source of human capital

formation which may contribute to the economic growth in India.
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qIe :  HEIREd 97 Fad gIEamiaa aqerTierat & [o7q 394 G 29 % T W& |
I it HTOT o G o w9 H <fRred § frarer st st i |

30. () 21 wATSE § I H GROT fohE SR @R GIET O FA H g

SENiTeht Toh el s{fHerT T wehcft 2 1
fau T He BT I deht o 91y SN fag fifsg | 4
JreraT
(@)  TTHOT IR § e SUTSEdT o Hew ohl TG Shifely | 4
31.  UH foreel a1 RO o1 qeAieh hITSTT forfeh SATER 0 =i | HA1fieh forshrer # oftsr g
| 4
32. UM UH U H 10 AT & ¥ 0 o [T FRIT o7 | 36 WHTISR L& AT STed e
I8 |7
SR Tl W $0Td USHIR <hl Tehfer <hl U&= o ST hifsT | 4

33. TIFcIRad T sl A Ye Iiex ;

JTN o dGd 8T e Yaial (footprints) & FHRUI, A Hehe H W@
ANTEeAl o ®9 H fgd 9 399Td &7 gl 3 @7 8 | Sy aiEdd sl i 8§
TN AN o FSEET Bl Fled Yeial (footprints) 1 FH A aTcll Jemell o
ITShATSAT hT UTT ahieh &1 9T ST EehdT & | I8 B fora-aeor O & 6via & |

B fora-aI9oT =T 39 HraisT(eh, st 37T iyt €37 & aRofi faene o
foru forfia e (S, wrgshi-shfee, fiuT 3K Fewr &) F s A g © |

AfRereh BT ford (WeATeret 3 i) = it AR shafat st it T &
foam & | IRaes foerme for e 3R o (he) €N Sl 3R STa-forRqa St aismmstt
o ToTe Tl & O S EiehTet I |l (3det ST o 3T o o fIg IR 2 |

BN ford Friareor i Turer, STieieh forerr o Tt Hel ot wehmreHsh T ST
Gl €, ST B AT i TichTied hid &, S foh Hesq 19 Scasia sl %4
AT, FsT1 SETAT H T AT AT SHoreh ST § Iheg, FET |

58/6/2 # 24| Page B



“®collegebatch.con

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 29.

Explain ‘Investment in Education’ as a source of human -capital

formation.
30. (a) “IT can play a critical role in achieving sustainable development
and food security in the 215 century in the country.”
Justify the given statement with valid arguments. 4
OR
(b)  Explain the importance of credit availability in rural development. 4

31. Evaluate any two factors that led to the rapid growth in economic
development in China. 4

32. “Ram was employed for less than 10 days in a company. He does not get
social security benefits.”

Identify and explain the nature of employment indicated in the above
text. 4

33. Read the following text carefully :

Growing carbon footprint of industries have put power and steel
sector in the spotlight as the major contributor to the climate crisis. The
challenge of climate change can be tackled only by making our industries
and businesses follow practices and processes that reduce their carbon
footprint. It can be possible only with green financing.

Green financing aims to increase the level of financial flows (from
banking, micro-credit, insurance and investment) from the public, private
and not-for-profit sectors to sustainable development priorities.

Global green finance has also started chasing Indian companies.
Global development finance institutions and funds are ready to offer
long-term support (both equity and debt) at cheap rates to projects like
solar energy and hydropower.

Green finance can positively affect environment quality, economic
development and financial issues that promote the green economy, such
as reducing greenhouse gas emissions, improving energy efficiency or
enhancing the organic economy.
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T3 U Ty & W T % AR W, fferRad gt & St i
@) efia ot ot o1 9 3e9 T I s | 3

@) &R ford-uryor o foreel a1 Sl ot == ShiTSe | 3

34. (&) (1) “ITHHOT ARG & AT Felet Tehrrensh GROTHT aTelt U TraT &R |17
fou T She T AT TS o T GHEI 37T e hifT | 3

(i) “EerTar I AT H F & H forifcrai o IHe" § GHar 1 a8
TR AT T |7
FAT 3T ST 7T e § WEHd & 2 I TR Gied 70 I 1 qHeH
e | 3

ateraT
@) () “FNI9EH WHN ford T 9 T S &, T I8 e F € et
o TOTe sTawae & |
f3u T e w1 ey AR o AT Sifee fag i | 3

(ii) IS el o ST WA H USRS GHAT YT L H T AN hT
VIfHreRT T Held | =i Al | 3
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On the basis of the given text and common understanding, answer the

following questions :

(a)
(b)

(a)

(b)

State the meaning and objective of green finance.

Discuss any two benefits of green financing.

(1)

(i1)

(1)

(ii)

“Globalisation has been a process for India with only positive

results.”

Defend or refute the given statement with valid explanation.

“The goal of equity was served by ‘Abolition of Intermediaries’

in agriculture in the post independence period.”

Do you agree with the given statement ? Support your answer

with valid explanation.
OR

“Farm subsidies put a huge burden on the government

finances, but are necessary for poor and marginal farmers.”

Justify the given statement with valid explanation.

Discuss briefly the role of small scale industries in generating

of employment and equity in India under the planning period.

3
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